5. Explain the important features of Keynesian
consumption function.
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6. Explain the Keynesian theory of Interest. How is B.A./B.Sc (Part II) Examination

the Keynesian theory of interest different from the
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classical theory ?
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7. Critically examine Hick’s model of trade-cycle. Time : 1% Hours | [ Maximum Marks : 70
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8. Differentiate between Harrod’s model and Domar’s
model of growth.
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Note .— The question paper is divided into two Sections
A and B. Write answers as per the given

instructions.
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9. Explain main elements of Marxian theory of Section-A 4x3%=14
economic growth. (Very Short Answer Type Questions)
stk fohre & we T % ge qwl w1 e Note .— Answer any four questions. As per the nature of
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the question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 3%z marks.
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1. Give the answer of the following questions :
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(1) Macro Economic Paradoxes
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(ii)) Circular Flow of Income
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(ii1)) Open Economy
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(iv) Full Employment
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(v) Aggregate Demand Function
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(vi) Autonomous Investment
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(vi1) Liquidity Preference
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(viii) Accelerator
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Section-B 4x14=56
(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 14 marks.
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2. Define National Income. What are the components

of National Income ? Explain them briefly.
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. Explain briefly classical theory of income and

employment. How does this theory shows that a
free market economy automatically adjust to full
employment level ?
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. Explain “Government Expenditure Multiplier”.
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